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5A 2B 643.0 ke 2,700 1,350 1,080
T 2L kg
INTTF &I 387.9 kg 1674 | 1566 1,080
HI5 BE 294.3 ke 2,160 864 864
RS ke
AR =) 20.7 kg 864 540 216
FX mE 9.3 kg 486 324 324
BIF kg
423 kg
T ®E 457.7 ke 3,132 432 270
3 =I5 345.0 ke 972 540 518
1H EE 69.5 kg 1,944 1,080 648
33 = 387.6 ke 1,944 648 486
NE ke
yarl= ke
7 kg
A ESERE 7,050kg
B T PR b
E 17 ] BE 76.1 ke 3564 | 3564 | 2916
BFAI kg
hRT7H kg
AFAT
S RA
1EH4
IETEHER= 76.1kg
HEHGHEE 88.5kg
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5 A BhE 76.4 ke 3413 1,350 1,264
TDAA kg
INRF kg
HJ5 ke
RS kg
AXE kg
FX ke
BTF kg
A3 kg
7 EE 155.6 ke 2,754 351 351
A R 50.0 ke 756 475 475
AH BE 52.8 kg 648 648 486
i ke
INE kg
yarl= kg
=1 kg

BRSNS 1,150kg.
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BFFA kg
BFATL kg
HRTFH kg
RAFAI7L
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IEFEIGEEE 0.0kg

AEHENE 9.1kg
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<54 IR 503.4 ke 2700 | 1,350 | 1,080
ZFDihEA ke
NTF = 387.9 ke 1,674 | 1566 | 1,080
HI5 = 202.9 kg 2,160 864 864
R ke
AR kg
FX kg
BIF ke
= kg
7o EE 272.1 kg 3,132 432 270
3 R 290.0 kg 972 540 518
A7 ®mE 16.7 kg 1944 | 1,944 1 1620
ER =53] 149.6 ke 1,944 648 648
INE ke
7oEe kg
72 kg

BAEHTEHE 4,700kg
= F R
HFF)AY kg
BFAIY kg
HRTH ke
HFATL
A
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BTEHREE 0.0kg

NRHTEHE 79.4kg
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54 EE 63.2 ke 2,376 864 648
TDIA ll:g
INTF g
HI5 #ES 91.4 Iég 2,106 1,080 756
RS g
AR = 20.7 kg 864 540 216
F #EE 9.3 kg 436 324 324
BT Eg
A0 g
7T #E 30.0 ke 918 540 432
HA E 1% 5.0 tg 605 605 605
15 4
30 = 238.0 kg 1,188 648 648
INE kg
Yyl ke
7 kg

B AEISE M= 1,200kg
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HEFFIAL] EE 76.1 kg 3564 | 3564 | 2916
EFA40 kg
ARFH ke
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ETHEHE 76.1ke

AEEH GRS 0.0kg.




